
Theo Julien Fund
• Keith’s college fund calculations assumed the existence of his 

continued salary. Needs $34K For completion of Theo’s senior 
year; raised ~ 19K to date. Thus, need to currently raise an 
additional $15K.   

• Keith would have been deeply frustrated at this situation.  So 
lets solve it for him.  

• I propose donations in increments of (3/2)*(2^N), de-aliased 
of course.  Don’t care the units.  Keith would have 
appreciated that.  

• For the more senior who knew him well, please consider N = 
8 or higher.  

• Let’s show that we actually did treasure Keith and actively 
solve this relatively simple balance sheet problem.


